
Pg. 312    4.4B – Trigonometric Functions of Any Angle 
 
Ex 1:      
State the quadrant in which  lies.  

a)  sin 0   and cos 0        b)  sec 0   and cot 0       
 
 
 
 
 
 
 
 
 
 
Ex 2:      
Find the values of the six trigonometric functions of with the given constant.  

a) Function Value       Constraint  b) Function Value        Constraint  
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             tan 0                             tan is undefined           2      
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   sin                cos                  tan   

 

csc                  sec                   cot   
 

   sin                cos                  tan   

 

csc                  sec                   cot   
 



Ex 3:      
The terminal side of  lies on the given line in the specified quadrant. Find the 

values of the six trigonometric functions  of by finding a point on the line.  

            Line                   Quadrant    
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                     III                            

 
 
 
 
 
 
 
Ex 4:      
Find the indicated trigonometric value in the specified quadrant.   
       Function                  Quadrant        Trigonometric Value   

      cot 3                         II                                                      cos  
 
 
 
 
 
 
 
 
Ex 5:      
Find two solutions of the equation. Give your answers in degrees and in 
radians.    
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   sin                cos                  tan   

 

csc                  sec                   cot   
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